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6HNWRU�SHUEDQNDQ�PHUXSDNDQ VHJDOD�VHVXDWX�\DQJ�PHQ\DQJNXW�WHQWDQJ�EDQN��
PHQFDNXS�NHOHPEDJDDQ��NHJLDWDQ�XVDKD�VHUWD�FDUD�GDQ�SURVHV�GDODP�PHODNVDQDNDQ
NHJLDWDQ�XVDKDQ\D� 6HNWRU�SHUEDQNDQ�VDQJDW�EHUSHUDQ�SHQWLQJ�GDODP�SHUHNRQRPLDQ�
VXDWX�QHJDUD��NDUHQD�EDQN�EHUSHUDQ�SHQWLQJ�GDODP�SHQLQJNDWDQ�SHUHNRQRPLDQ�GDQ�
PHQMDJD� VWDELOLWDV� HNRQRPL� VXDWX� QHJDUD�� ,QGXVWUL� SHUEDQNDQ� NLQL�PHQMDGL� OHELK�
NRPSHWLWLI� NDUHQD� GHUHJXODVL� SHUDWXUDQ� VHUWD� VHPDNLQ� EHUPXQFXOQ\D�SDUD� SHODNX�
NHJLDWDQ�ELVQLV�GDODP�NHXDQJDQ�VHSHUWL�SDUD�SHPDLQ�)LQWHFK� 0DND�GDUL�LWX�EDQN�
KDUXV�EHUXVDKD�XQWXN�VHODOX�PHQMDJD�NLQHUMDQ\D�DJDU�VHODOX�PHQMDODQNDQ�IXQJVLQ\D�
GHQJDQ�EDLN��$NDQ� WHWDSL��GDODP�PHQMDJD�NLQHUMDQ\D� WHQWX� WHUGDSDW� IDNWRU�IDNWRU�
\DQJ�GDSDW�PHPSHQJDUXKL�NLQHUMDQ\D�

9DULDEHO� LQGHSHQGHQ� \DQJ� GLLQGLNDVL� GDSDW� PHPSHQJDUXKL NLQHUMD� EDQN�
GDODP�SHQHOLWLDQ�LQL�\DLWX�1RQ�3HUIRUPLQJ�/RDQ��13/���/RDQ�'HSRVLW 5DWLR��/'5���
&DSLWDO�$GHTXDF\�5DWLR��&$5���GHZDQ�NRPLVDULV��GDQ�GLUHNVL��6HGDQJNDQ�YDULDEHO�
GHSHQGHQ�SHQHOLWLWLDQ�LQL�DGDODK�5HWXUQ�2Q�$VVHW��52$���3HQHOLWLDQ�LQL�EHUWXMXDQ�
XQWXN�PHQJHWDKXL�EDJDLPDQD�SHQJDUXK�1RQ�3HUIRUPLQJ�/RDQ��13/���/RDQ�'HSRVLW�
5DWLR� �/'5��� &DSLWDO� $GHTXDF\� 5DWLR� �&$5��� GHZDQ� NRPLVDULV�� GDQ� GLUHNVL
WHUKDGDS�5HWXUQ�2Q�$VVHW��52$��EDLN�VHFDUD�VLPXOWDQ�PDXSXQ�VHFDUD�SDUVLDO�SDGD�
SHUEDQNDQ�GL�%XUVD�(IHN�,QGRQHVLD�NDUHQD�SHQHOLWLDQ�WHUGDKXOX�PHPLOLNL�KDVLO�\DQJ�
WLGDN�NRQVLVWHQ��

3RSXODVL�GDODP�SHQHOLWLDQ�LQL�EHUMXPODK����SHUXVDKDDQ�SDGD�SHUEDQNDQ�\DQJ�
WHUGDIWDU� GL� %XUVD� (IHN� ,QGRQHVLD� SHULRGH� ����������� -XPODK� SHUXVDKDDQ� \DQJ�
GLMDGLNDQ� VDPSHO� \DLWX� VHEDQ\DN� WXMXK� SHUXVDKDDQ� GHQJDQ� SHULRGH� SHQJDPDWDQ�
VHODPD� OLPD� WDKXQ� GDQ� GLSHUROHK� ��� WRWDO� GDWD� VDPSHO� \DQJ� GLGDSDWNDQ� GHQJDQ�
PHQJJXQDNDQ�PHWRGH�QRQSUREDELOLW\� VDPSOLQJ��0HWRGH�DQDOLVLV�\DQJ�GLJXQDNDQ�
DGDODK�DQDOLVLV�NXDQWLWDWLI�

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNDQ� EDKZD� VHFDUD� VLPXOWDQ� YDULDEHO� 1RQ�
3HUIRUPLQJ� /RDQ� �13/��� /RDQ� 'HSRVLW� 5DWLR� �/'5��� &DSLWDO� $GHTXDF\� 5DWLR�
�&$5��� GHZDQ� NRPLVDULV�� GDQ� GLUHNVL EHUSHQJDUXK� WHUKDGDS� 5HWXUQ� 2Q� $VVHW�
�52$�� 6HFDUD� SDUVLDO� YDULDEHO�1RQ�3HUIRUPLQJ� /RDQ� �13/�� GDQ�/RDQ�'HSRVLW�
5DWLR� �/'5�� EHUSHQJDUXK� QHJDWLI� WHUKDGDS� 5HWXUQ� 2Q� $VVHW� �52$��� YDULDEHO�
&DSLWDO� $GHTXDF\� 5DWLR� �&$5�� EHUSHQJDUXK� SRVLWLI� WHUKDGDS� 5HWXUQ� 2Q� $VVHW�
�52$��VHGDQJNDQ�GHZDQ�NRPLVDULV�GDQ�GLUHNVL�WLGDN�EHUSHQJDUXK�WHUKDGDS�5HWXUQ�
2Q�$VVHW��52$���
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5DWLR��1RQ�3HUIRUPLQJ�/RDQ� 5HWXUQ�2Q�$VVHW


